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~ Dmestionone

a) Outlinethepurposes ofinformation
providedbymanagementaccountingtothemanagement

(5marks)

b) Out}inethedifferencebetweenﬁnancialAcc0untingandManagementaccounting(Smark
s)

c) Outlinethestepsof cost Estimation (5marks)

d) OutlinetheassumptionsofCVPanalysis (5marks)

e) Highlighttheimportanceofbudgeting (5marks)

QUESTIONTWO

a) Define margin of Safety (MOS) (2marks)

b) Explain FOUR main differences between Absorption costing and Marginal costing
(6marks)

¢) Bingwa Company produces two products P and Q and has provided the
following information relating to product P and Q

F
Shs shs
Selling price per unit 10 12
Variable cost per unit 2 8
Fixed cost 50,00034,000
Required
i) CalculatetheBEP ofeachproductinunitsandinshillings (4marks)
ii) Calculatethemarginofsafetyofbudgetedsalesat10,000unitseach (4marks)

iii) Computetheproﬁtateachproductifsalesinunitare20% abovethe BEP (4marks)

QUESTIONTHREE

a)Assume that the production manager of Nzoia sugar company is concerned about
thecurrentﬂuctuati0nintheefﬁciencyandtherefore
wanttodeterminehowlabourcostisrelatedtovolume. The result ofthe]12mostrecent

weeksareshownbelow
Weeknumber Numberofunits (X) Labour cost(y)
1 34 340
2 44 346
3 31 287
4 36 262

Page 2 of 5



30
49
39
21
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9 41 376

10 47 295
11 34 218
12 24 275
: T
Require
d
i) Establishacostfunctionusingthe linear regression (12marks)
Method
i) Assumethatthe numberofunitsweexpecttoproduce
inthenextperiodiss0.Estirnatethelabourcosttobe incurredinthatperiod.
(2mark
s)
Explain three disadvantages of High- Low Method (6marks)
Questionfour

a) Lamu Limited has to choose which one of the two projects to undertake. The

initial cost
oﬁnvestmentforprojectXisshs320,000andprojectYissth40,000.Thecashﬂowsof

cachprojectwouldbeas follows:-

Year ProjectX ProjectY
1 80,000 120,000
2 80,000 100,000
3 120,000 100,000
B 120,000 80,000
5 30,000 (20,000)
Required:

UsingNPV atadiscountrate of1 4%advicetheinvestoronwhichproj ecttoinvestin(10marks)
b) HighlightﬁvedisadvantagesofusingpaybaclqnethodintraditionalmethodofCapitalBudgeti

ng

(5marks)

QuestionFive
a) HighlightsixassumptionsofEOQ (6marks)
b) Explain three way in which cost are classified (6marks)

c) Acompany uses50,000 nutsperannum whichare
shsl Oeachtopurchase.Theorderingandhandlingcostsareshs1 50perorder
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1 S%ofpurchasepriceperannum.

andcarryingeostsare
Required:

) CalculatetheEOQ | (3marks)

AnnualNumberoforders (3marks)

(2marks)

i)
iiil) TotalCost
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